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B. A. (ECONOMICS) (BAG) 

Term-End Examination 

June, 2024 

BECE-146 : INDIAN ECONOMY–II 

Time : 3 Hours     Maximum Marks : 100 

Note : Answer questions from each Section as per 

instructions. 

Section—A 

Note : Answer any two questions from this Section 

in about 500 words each. 2×20=40 

1. Distinguish between quantitative instruments 

and qualitative instruments of Monetary Policy. 

Which of these is more frequently used by the 

Reserve Bank of India ? Also evaluate its 

effectiveness. 

2. Explain the factors responsible for low 

productivity in Indian agriculture. How can 

capital investment help to improve productivity 

levels ? 
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3. Discuss the effectiveness of recent policy 

initiatives to promote MSME sector in the 

liberalised economics environment. 

4. Explain the impact of recent domestic policies 

and constraints forced by the services sector in 

India. 

Section—B 

Note : Answer any four questions from this Section 

in about 350 words each. 4×12=48 

5. Distinguish between revenue deficit and fiscal 

deficit. Would you recommend larger fiscal 

deficit to meet the revenue expenditure needs of 

the government ? Why or why not ? 

6. Evaluate the change in India’s FDI policy since 

1980. Would you advocate removal of all 

controls on inflow of foreign capital ? 

7. Outline the historical context in which labour 

laws got instituted in India. 

8. State the importance of agricultural sector in 

stimulating the overall economic growth. 
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9. Outline the salient features of ‘National Policy 

for Farmers’. 

10. State the functions and challenges of 

Competition Commission of India. 

11. Write a note on ‘informal services sector’. 

Section—C 

12. Write short notes on any two of the following in 

about 100-150 words each : 2×6=12 

(a) Debt-GDP Ratio 

(b) WTO and subsidies 

(c) Goods and Factors Markets 

(d) Tenancy Reform 
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